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GUESS PAPER - 2010
Class - XII
SUBJECT - Mathematics
Quick Revision Test  No  1 for Board 

Marks -50    Time 1 hour 30mts

( Chapters Relations & Functions, Inverse Trigonometry Functions, Matrices and Determinants)

I.
Answer all. 7x1 = 7

1.
Find the value of sin-1(sin(3π/5))

2.
Find the value of tan-1[ 2cos{2sin-1(1/2)}]

3.
* is a binary operation on Q such that a*b = ab/4, evaluate -2 * 7

4.
Show that the relation R in real numbers defined as R ={(a,b)/a≥b} is reflexive,transitive and anti symmetric.

5.
Find the value of x for which the following matrix is non singular.
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6.
If  (2,0),(0,5) and (x,y) are collinear then show that (x/2)+(y/5) = 1

7.
Using properties show that 
1
a
b+c 






  
1
b
c+a    = 0






  
1
c
a+b

8.
Find a matrix X such that 2A+B+X = 0 such that 3A-2B+4X = 0




A = 

2
3
 B =
3  
4



4
5

5
6

II.
Answer all ( 8x 4 = 32)

1.
Write in simplest form


tan-1  acosx - bsinx

          bcosx+asinx

2.
Solve cot-1x – cot-1(x+2) = π/12


3.
If A =    2
-3  satisfies the equation x2-6x+17=0. Hence find A-1

            3
 4



4.
Solve for X if   5
4     X =  1   -2




    1
1            1    3


5.
Using properties show that    1
x
x2







       x2
1         x     = ( 1 –x3)2
   




        x         x2           1

6.
Show that     a-b-c  2a
  2a

  


  2b     b-c-a
  2b     =  (a+b+c)3



  2c
  2c
c-a-b

7.
If f : N U {0} → N U {0}   f(n) = n+1 if n is even   Show that f is bijective

                                                    =  n-1 if n is odd    function

8.
If f: R – {3}  → R-{1}f(x)  =   x -2  Is f is invertible. If so find f-1
   
                                         x-3 

III.
Answer all ( 2 x5 = 10)

1. The cost f 4kg onion, 3 kg wheat and 2 kg rice is Rs60. The cost of 2kg onion, 4kg of wheat and 6kg of rice is Rs 90. The cost of 6 kg onion, 2 kg of wheat, and 3 kg of rice is Rs 70.  Find the cost of each item per kg by matrix method.


(or)  Use product    1
-1
 2
   -2
    0
     1



           0
 2      -3          9         2       -3



            3     -2
 4          6         1       -2  


To solve the equations x-y+2z = 1, 2y-3z  = 1 and 3x-2y+4z = 2

2.  Using elementary transformations find A-1  if

A  =  0     1      2

        1     2
    3

        3     1      1
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